
60 min

MEMPHIS GARDEROBENPANEEL 3B A1GH40

1

xxxxxxxxxx
serie: xxx............

...................

Hergestellt fur:
...................
...................



2

x4

x5

x1

x3 x1

x2

x1

x6 x12

x6

x1 x1

x14

x12 x5

x3

0 10 20 30 40 50

x4

49 M4x22

80cm
30cm

117cm

x4

74D74C

1 6 5x11 9 ø15 9A 22

22A 26 28 72

74A 74B

80 80A77

74E



3

N03

N02

N10

N01

DC
B

F

A

A B_(mm) C_(mm) D_(mm) E F
N01 802 848 18 1 1|1

N02 798 168 16 1 1|1

N03 802 160 18 1 1|1
N10 782 280 22 1 1|1



4

x3

72
x6

6 5x111
x4

9 ø15

x12 x6

28

x12

9A

28

9

9A

6
6

72

28

28

28

28

28

1

1

1

1
9

9

9

9

9

9
9

9

9

9

9

9

N01

N02

N03
9

72

72

72



5

x5 x5

22A22

22

22

22

22

N01

N10

22

26

22

22A

x8

49 M4x22

77

77
77

77N01

77 49

49

22

77
x4



6

74B 74E

x2 x4

x2

74B

74E

74E

74D74C74A

x1 x1 x1

74B

74B

74D

74A

74C



7

x3

49 M4x22

49

49

74B

74D

49

x3

49 M4x22

74B
74A

74C

49

49

49



8

x3

8080A
x1

650mm

640mm

320mm

ɸ8

80

80

80

N01
N01

8 80A

OPTION

Max

Max

2kg



9



10


	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10

